A= HEY M= SM  EXAR D
M EX 2L S 2ELXNIMNY/NILTAl)
SR DASHO EXNW 2Y EERED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
E X K& 2,869,443 2,034,956 834,487
= 2,235,321
T 634,122
EX2eo SSSH2ELXNIMNY /XN AL Al) 2,830,743 1,993,256 837,487
= 2,235,321
T 595,422
DHMEHMO EXNYEE 2 12,000 13,673 N 1,673
EXZel L HNEAN &E 12,000 13,673 N 1,673
201 LEt2 Y| 4,000 3,673 327
01 AFR 2t2ldl 4,000 3,673 327
O XNAMFTA ZHEIIGEAN &8 /A3 4,000
202 O B 8,000 10,000 A 2,000
01 2L Y| 8,000 10,000 A 2,000
OEX 22l & HeHE M =E 8,000
EXNHE 29 92,821 18,000 74,821
= 52,821
& 40,000
NE=g Aozl 40,000 18,000 22,000
201 Bt A H| 30,000 5,000 25,000
01 AFR2 22l Yl 29,000 5,000 24,000
OADIE =2 - 28X 0l2J|8t X4 (=2H|) 23,000
OXNHRARS 29 4,000
O2t4d I B=2tel 2,000
03 A2 H H| 1,000 0 1,000
OXIEAMOILE HZ 1,000
202 O B 10,000 8,000 2,000
01 2L Y| 10,000 8,000 2,000
OXNE=HNAA - NESSXS 10,000
NESEES 52,821 0 52,821
= 52,821
101 @124 17,264 0 17,264
= 17,264
04 JI2ZtH22XNHEE =+ 17,264 0 17,264
OJI2ZtMZ22X S B 17,264
= 17,264
202 04| 1,657 0 1,657
= 1,657
01 2LHOHI 1,657 0 1,657
OXNHZAZIER =& bl 1,657
= 1,657
308 AXISHXMSOIH 33,900 0 33,900
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A= SN L ENTED
EXN&C S8 ELXNAMLY/RNSLTAl
SRYFL - REM B (B9 ®R)
R.RN-ZE-E(HH) - HRAY - BES Ol &k o il Hl D = 2t
= 47,830
201 L2l 68,330 0 68,330
2 20,500
< 47,830
01 At 22|l 68,330 0 68,330
OE2TY=AAMNY EE 68,330
= 20,500
= 47,830
C2YEFA ANES A2 (ZD) 260,000 0 260,000
= 60,000
= 200,000
403 XAtXIHM S K201 260,000 0 260,000
= 60,000
= 200,000
01 AXSHMA=2EER 260,000 0 260,000
OEZYE=AANY AMEES RA2L 260,000
2 60,000
< 200,000
CREFAIE2E A AL (2IAEXH) 17,296 0 17,296
403 Ut S S X201 & 17,296 0 17,296
02 SIS0l CH 8HCH & AF 2 HI 17,296 0 17,296
OERYE=:A JIE2E SFAES A 17,296
CE2EFA - BESA 22 (2IAFXH) 9,496 0 9,496
403 XXM S X201 A 9,496 0 9,496
02 3J|2S0ll CH 8HCH & AF 2 HI 9,496 0 9,496
Ok=zY=x4 FES g2 9,496
ZOIXNEHST X - 22 N (=20) 12,000 0 12,000
= 12,000
403 XAXISHM S K201 A 12,000 0 12,000
= 12,000
01 AXSHMA2E = 12,000 0 12,000
O=JtN&EHSE &X - 22| X& 12,000
= 12,000
K& T AFAFS 1,004,400 0 1,004,400
= 1,000,000
= 4,400
NETHEAALY F=ZX(=1) 1,000,000 0 1,000,000
= 1,000,000
201 L2l 3,396 0 3,396
= 3,396
01 At 2t 2|l 3,396 0 3,396
OXI & THZ= ALALS 3,396
= 3,396
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P EXZeY SE8H=ELXAMNL /XA
HEPNESPVESY PN goa!

- _ _ RE]
AT SA B O (3H) - MEAY - BES %Eﬁ HR=2
202 o4 | 6,000 0 6,000
= 6,000
01 2L HI 6,000 0 6,000
(OPNESPUEYNFNR) 6,000
= 6,000
308 XNXISHH SO0l & 990,604 0 990,604
= 990,604
01 IXHHIMNEXZ 990,604 0 990,604
O KXl & THZ= AFAFS 990,604
= 990,604
X &= THEAFALS 4,400 0 4,400
201 et d| 2,400 0 2,400
01 AFR 2t 2| bl 2,400 0 2,400
OXNEMMEAIRKS 24 2,400
202 04| 2,000 0 2,000
01 2L I 2,000 0 2,000
OX X ZEAALS =& 2,000
HESAYBH (EXI XKD (IIEH/DIE 38,700 41,700 A 3,000
=244 38,700 41,700 A 3,000
A9 /2234l 38,700 41,700 A 3,000
201 LBt ]| 24,500 24,500 0
01 AP 22| H| 24,500 24,500 0
OBNE2Y AR 22l 24,500
202 044l 10,000 10,000 0
01 2L Y| 10,000 10,000 0
o=yl 10,000
203 R F & 4,200 4,200 0
04 EASHEYRFAH| 4,200 4,200 0
©30@! O|ot 350,000 x12& 4,200




